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Expectation AG1 – determine the relationship between the form of an equation and the shape of its graph 
Answer on your scantron.
1. What are the two important features of a straight line that enable us to graph it and find its equation?

	A) rise and run
	B) steepness and direction
	C) unit rate and slope
	D) slope and y-intercept


2. What is the slope of 
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3. What is the y-intercept of the line 
[image: image6.wmf]y

=

-

2

3

x

+

5

?

	A)
[image: image7.wmf]-

5


	B) 
[image: image8.wmf]5


	C) 
[image: image9.wmf]-

2

3


	D) 
[image: image10.wmf]y

=

x




4. Which line goes up and to the right?

	A)
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5. Which line goes down and to the right?

	A)
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6. Which of the following is a horizontal line?

	A)
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7. Which of the following is a vertical line?

	A)
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8. Which of the following lines is the steepest?

	A)
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9. Which of the following lines is the least steep?

	A)
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10. Which of the following lines has the same steepness as 
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11. Which of the following lines has an undefined slope?
	A)
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12.  Which of the following passes through the origin?

	A)
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13. Which of the following represents a straight line?

	A)
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14. Which of the following does not represent a straight line?
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15. Which of the following would give a slope of 
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	A) rise 6 run –3 
	B) rise –6 run 4
	C) rise 2 run 3
	D) rise –3 run –2


16. Which of the following is parallel to 
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17. Which of the following is perpendicular to 
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18. Which of the following is perpendicular to 
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19. Which of the following does not cross the x-axis?
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20. What is the slope of the line 
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21. What is the y-intercept of the line 
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22.  What is the x-intercept of the line 
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23. Which of the following could be the equation of a line through AB?
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24. Which of the following might be the equation of the unknown line?
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25.  A line with slope 
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 passes through the point (–20, 51). Which of the following is another point on the line?
	A)( –42.4, 107) 
	B) (0, 0)
	C) (–10, 24.6)
	D) (5.4, –11)
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